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37.  The writers adviceis__- 38. mwmvabtommsetheabovepassage
":,AA.Anybodycandnveabxg*wamileadagood s 3
T life Idoesnmlaay L
B.Mostofusﬁox’npoorfamiliwaredoomed »_»Bthethuensawathgcxsaway
C.Unless you help yourseif no one can help you ‘C.Absmcemai:cihchemtg.cwfondcr
nere ' D.Nothing succeeds without success -

Wl
N

Read tbefoﬂoumg passage and answer questions 39-50 | \

Mother tongue is a spice of culture. It blends people together from generation to gauanon.hxsﬂmg!m
Mbmmwdmmmmwpmwnmmacmmmmmmm e
learnt from their mothers as she crooned and rocked them asleep , a language passed io her too from he perents who -
learnt it from their parents and on down the family trail. It has been a mark of identity. All people, all nations snd
allmbsofdxcworldhweﬂ:mlmgmgusbuﬂmghsfondmﬂmmdmmabowahwtofm
factors. Peoplcmaaﬂtmvmdsﬁnedbyﬂmr!mguage Thxsmwhatmakesagoupdhmcanddesﬁnedﬁm
other groups. .

mmmeaMsmwmmwAmmmwmm
neneededmsecommylanglmgewqmmuon.Rwalsoasprmgbouduponwh:chacbﬂdaeqtmesarﬁsncs!i‘l&
becomes a creative, interactive, social aud intelligent. This sets a child free not to become a slave of others by being 533
dependant on them to the level of imitating their culture. megelnsﬁmcnonedasatoolﬂum:ghmlmgible
thmmmmdmwmmmmmmmmmgﬁw
know about our shared African-ness

However, somethmgmhappcmngandﬂnseage—oldganshandeddowntombyommwnh
Mmmmmdmdmmgwb@mgmmmmge.m“mmmybmmww
fomeﬁmonMmemmmmmmﬁmomeWOfW
and English in the form of Sheng. Parents in mixed marriages find it a dilemima to teach their children & piimary
Wmsmmamhsmwammmwm%@mma&smxm
mwmmmmmwmmmemmmmmm
mlm&mrbcdhngmgehﬁﬁenchl&mmlywqmaﬁwmmmqmyfmgawhmm

open.

CMImmﬁomsmhmamagwgowuprapnmmyngmemd&wwmuﬂagdﬂl&mmghtfeﬂ
mohMThswddmﬂtmﬂ:cchl&meﬂhngmmmngﬂmrmmgmmnhasnabem
aﬂuvawdmthanbythcupmms This is a way that jeopardizes the continnity of mother tongue as when children
of mixed marriages grow up and marry. Their children will most likely grow up without a primary language and the
cycle will continue. Is there need to teach our children their ethnic culture and tradition in & society which the
mﬂdhasbwomglobalwﬂageahkmthunb&kommd:maﬂﬂuwhchmw&&mﬁm%?
Woddnwéwdeﬁmmmhamwwmmmmdemmmay
: whm@glﬁgmmlyandmﬁmcMmMﬂmahgmhmhmmmduMngmongﬂx
woplemﬂdova?ﬁﬂmwhyamemwdmmmbdodnrmwmmmm

Mgmmw@mmm)mmmw“bﬂedmmmm :
DPNF. £ Tt TURN OVER
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THE NEWLIGHT -~ | 5 _ o - 'lhciﬂnn'l
READ THE INSTRUCI‘IQNS w (Instruetions to candidates )

l. Ymhvebamp\wmsqnuﬁmbaﬂamdm“ummmmﬁ guostions
2 Do any necessary rough work in this bookdet
3 Whmwuhwcbomymm,mﬂhmbmmﬂﬁlwm

- .

ma
e

Use only an-ordinary pencil o ; , .

NAMEOF YOBRNCHKN0L
By drawing 2 dark line inside the correct numbered boses nessrk: your Sl Inthex dinver wmmuu
‘three figur> Candidate’s Number) in the grid near the: top of'the snswar: sheot
. Do not muls any marks outside the boxes
Keep the s_we*ascbmaspall!buﬂdoantﬂk
For each of the questions 1- -Mhmmmmmmwmm Tn exch case ONE of the
o, memscmm&omhmum
10. On the answer shedﬁcm&mhhhﬂmh”ﬂmmmﬂwmh

wa

L

chosen is written . ~
Example =
In the Question Booklet
39.  Find the vahe of 748
2.2x0.05
A. 68 g B - /680 o
c & D . ;nl-
* The correct answer is C : ' p»

- On the answer gheet
B wmiem B wEic) .mmm .-mmucnbl

o the set of boxes mmbeu” mwmumwhuhm
11 Your dark line MUST be within the box
v R For each question mmmt&b“hﬂﬂdm

Thois Question papamqspwm E

2015 DIGl'l‘ALPlOVR WWYA
= : Cell: 0716 OS2 864 / 0724867452




1.

D:0.0368.,.

' D.13am ‘ '
. -Kimunge tea factor .QBSJWJM

A.474°

Find the sum of 196 and 172 then divide the

result by 1000,
A.303

B.3.68 ;...
C.0368
The scales of a right-angled. W

(8x M(4x-8)ﬁld(3!+6)mifﬂ'°

Pty

penmctaxs360m,ﬁndtlclm@hofﬂn i ¢

hypotenuse?
A.17cm
B. 9cm

- **!4#% vm.’ﬁ

teamd:cmomhoﬂammy Ifthemw-pldnd

5 m,sk'gwmmm v‘uyuam

A 7000

B. 700

C.7 N
D.170
Whnchnumbensexactlybetwemw"landsm

- ::-,.4, S s
St AT ‘

B. 464

C. 484

R

T

7.

{

10.

. W T gy PPy oSS o e i =
" Bpd M ta - 5 ST -
X - g >

~6~:‘ : mmﬁewhﬂdﬂofmcm
' £

* B. 20cm
' C. 20cm

9.

A1 |
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~door ? ,
A. 2000cm -

D. 0.2cm g

mwmmm-mm :
PQR-SO"hanR-GCM.ﬁndﬂnmof
linePR.

A 6.8cm

” ‘B. 5.2cm

C.73.
D. 6.0cm -

:mbamnsmpummmbomhad
- 11 in them and some had 12. How many boxes

had 12 of them
A.6 /

B.2

C. 4

'D.3

.Inahandueue%wu.liachublehadlz

b, dm:romdﬂ.lhaemtwmmemdus
onl2tables.lfevuyoea:punpmdksh.25,how

much money was collected?
A. sh.4200
B. sh.3600
C sh.1925

D. sh.l4800
Calc\ﬂmthemﬁccmoftheﬁgmbelow

C. 492cm? D.
NICTTAT. PROVE. 7018 KXY AMS




12.
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ﬂ%ﬁm womgthemmm Jmmhmmmﬁ&em&f

A.96°

C. 84°
D. 108°

CBEHO4® VB § T

Ihepop!ﬂanonofavﬂlagexsmmdby

the pie chart below.

- QREFILE

Ifﬂzmwerg@()(izﬂs,howmmmbem

U
ww

s .._..,,._.._...—4-. e as—y

C50 X Sf-:-j"D,l&O

;‘1.

N

13Whatlsthevalueof 3"(5' ¥ ) --3?

s e mEs SUIAY Dk

e, A

i FGL

C.9 éx 1D.3

SIS 6T L Fan

-

A 36 - . B.6 .

23‘*:”.-;

ahe o

;;A

1 ¢ ’ 2
| ST Cdcﬂlateﬂxesmfaoemofﬂ:eptpe" ;

i \m;mnersshomhd@"

.8 NSRRI S
” T'. u)d “"" 2] W wh 2l PRI

A. 2450cm? " B. 3900cm? - \}
C. 12400cm? D. 14B50coy’ . ]
15. Asalsladyeamsabasxcsalaryofshs 175m 4
For auy sale above 50,000, shetsgwma :
comxmsswn of 2 % %.. hone monﬁmiesold
gnmﬁmm’? agpass ey reie o atopm m RN
A. Shs 15000 Lopgeemany s b pme-Taa A S

,
W
w

NI B e Ak WA W R .

* B. Shs 32500
', G Shs16250 s I LD
o &,5&337,50 " "
g memmmsoo
foramdloaﬂugemngaiﬂ%dlsoom
B A.Shs4950
0" B.Shs 500
C.Shs 45000 ',
D. Shs 5000 S

19 Theﬁgmebdowshowsawaterpipe ofdi-neter

. ..07m and length 35m )
5
? Lol BE

il
ol B L& RO 1 G P NS

. A.53.0m? B. 154m?
L €T D. 385m?

. MICTTAT. PROVE M18 KXY AMS
e g




his weight decreased by 10%. Two weeks later |
helostﬁu'rherm'/..Whatwash:sweigluaﬂu

‘9‘

21.

«noededtoﬁlltheunkeompletdymhm 'UH =

mdofthesecondweek?
A 162kg A - .B. 182kg

" C.180kg _ D. 160kg

Calmﬂatcmepenmeterofﬂxeﬁgmebdow if
Ahcew:ntroundsxxt:mw ‘

g

- - e -

- A 32,8
- C.38:8km

. his salary increase?

C.2268L

"B.232.8m .

D 473m
Kenssalarymcreasedby'l.kxwhatmuodid
A.d:1 B.1:4 . |
C.4:5 D.5'4

A rectangular tank shownmdieﬁgmasﬁlled
with water upto 0.75m. how much more water is

B. 1250L
D.1215L

 Ali used his salary of shs.36 OOOasfollowso.Zz
schools fees, 0.28 food, 0.36 rent. He saved the
rest Whatpm'centageofthemoneydidheuve?

A 0.86%
B. 14%

A. 1053L

C.86%
D.0.14% - .

B =

26.

27.

C.328m

c1v,
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mmasoboooopeopk Those

Zoymndbdmmmm:gedm
: w4$}usm55%mdﬁemunhbave55ym

.How many people are aged 55years?
- A. 495000

B. 49500

C. 4950

D. 4950000
Cdaﬂmmcmofasqmmdmwhose .
area is 6724m?
A. 82m
B. 288m

‘r:_,-.;'

D. 72m

'l'hcamaofthecurvednn'ﬁmofacyhndens
6160cm?, ﬂ:ehaglnofthecylindu'uIOcm.What,
xsﬂ:eradxusofﬂxecyhndamoenﬂmeter?
(Take I =2/,) .

- B. 14cm

C. 196cm

."D%&m

Rmmdoﬁ‘tothenarut 1000 thefollowmg
mmber67351

A. 67000 B 67350

C. 68000 D700
Work out 7, of (Y, )+ ¥,)¢Y,
A, B.27,
C.4v/, D.4¢,

Find the value of | 2Y,42 7/, x C/,7°?
A. 9/, B.1v,

Dy,
F'mdﬂ:eannofallpnmemmbmbetween
20 and 40 ?

A. 159 B.120

C. 146 D. 83

MAFMY T AT WmTROAAT e TRIE AN ATVUVE WE A RSO

5 24



30.

33.

34.

Which one of the following groups of the
mmwmemﬂ:ofanﬁ-
angled triangle? .

‘A..7cm, 12cm, 13cm

B.Scm, 4cm, 25cm

C3cm, 4cm, 25cm |

D.12cm, 16cm, 20cm =R -4
" The temperature of milk from a fridge was 20°C

below 0°C. It was heated at the rate of 2°C per
mmm.W!ntwasthcmdmgaﬁuaw
ofanhmn'?

A30°C
-B. 10°C

C. 50°C
D. -35°C

In 2 film show, Y/, ofﬂnemdav!wuebm

while '/, wueglﬂl.‘l'cmﬁﬂhoﬁhem

" were men and the rest were women. What

fraction of the total attendant were wonsen?
A Y,

B.YY

c.%,

D.%, -
lOmencgndigapieeeofhndinGO!ma;Hon
many more men would be required to do the
same woﬂ:lehonu? :

A.10

B. 50

C.40

D. 60

A quadrilateral whose area is 960cm? has the

" same area with a triangle whose height is
30cm.whm mthclmﬂhofthetnmgh?

A.32cm

B. 64cm _ _ L FG a
- B 15em .~ -

. Powered by: www,eeducationgroup.com

e *‘. -On a map whose scale is 1:10000 a piece of land

g 'iuMbyambmmgMby

' "mmuumnmm-.m?

A.24h

B_-240h w3
C.2400h
D.24000h
'lhecashpueeﬁxaanublebedmshs%oo By
hnepwdmenwmldoostlm/omore Jane paid

a deposit of shs 4000 and she: paid the balance in

Py Gl s W L
w3 B

By

37

AL Shs 10400

B. Shs 4000
C. Shs 5600
D. Shs 800

Y

Solve the inequality 2X - 7>ll “Which set below
-aﬂnmeetpnrforthcvamesofxr '

A 10md8
'B. 11and2
C.13 and 12

D.2amdd T

'Acyhndrndﬂofndnn”mhlﬁloman’

&mmuﬁndqﬂofthem
A. 45cm
B. 60cm

- C.30cm
D. 15cm -

A~"q:eadinge-'aosseda60mlongbri'dgein4
mmwﬁespeedofthemmm/s
A 9 m/s

B. 150 m/s

C. 32 m/s ‘ il

D. lSm/s ’ TR
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41.

42.

Gtapwooststhccas‘mmhperKgasappHJK;

ofapplesandZKgofgrap&scos!sShAmmd .

" the price of 1 Kg of pples 7
A.sh.120 'B.sh. 180
C.sh 60 D.sh6
What is the next number in the pattern
18,11,7,4 '
A.3 B2
C.0 D.1

\Atwohgave‘l ofanto‘! and ¢

1/, to nyaboke and remained with 48. cm of

thcsugatmc.l-lowlongwasthcwm
metres 7

A. 2.21m B. 1.44m
C.48m D. 0.6m

Ablcyclewheelhasadlmdltwm
100 revolutions. What dxstmce did the whd
cover in'cm? ‘

A. 1.76cm B.17.6am

C. 176cm - Dr1yeebEm
Amina rearranged the dght of i miialice
56.4218 1o form the largest nomber =
possible. Which dmggwill hemﬂlonsadﬂ!
value?

A8 B. 4

c.2 - D.6
'mpummofﬂnmbelowumm
1= 3. l4calculatetheamaofﬂ:eslmded
region? ;

B. 1600cin?
D. 86cm?

A. 400cm?
C. 314cm?

6

46'.

5 g .m’ en
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LM LA Yom

Calculatetbepam of the figure below, -
: and BC=14cm.

wul- T %

A
A. 106em B. 62cm
.- S5cm D. 87cm

| regular intervals, how many pegs wéfeised 7
Al B.12
C.4 D. 10

.luﬂneﬁgnhdawABispnalldtoDC ﬂ

.ndwnofﬁcﬁgmABGD

A,

40cm B

. A 1000cm?
. C.  1050cm?

49. Tmmpmummammm'
both sides of a road that stretchies Sim  hovwnany
trees were planted '

A. 2501 B. 5002
C. 5000 D. 2500

80. Find the next triangle |
AAA
A B c D

DIGITAL PROVE 2015 EXAMS




1.

s.

'lhed.mgmnbelowuanaamplgofg ¥

Thelastteethtohc hccnymmgchﬂdrm

A.Onemotandcbtseldnped
B'Ihrotootsand“wedﬁxgundmg
C.One root and used for tearing

D.Tiree roots and used forchewing |}

Which of the follow-cg is thc largest
componeat of bliod™
A.Red blood ¢::s .

D.Wliiw’bl'oi:d e RS
Which one o the followsay: is not an
immediate sign of ill health «; fivestock 's?
A.Loss of weight

B.Rough coat

C.Blood in stool

D. Coushms

ptmdoesnotworkbymvmgwuﬁa?
A.Drying :

B.Smoking : 3
C.Salting ; e

. D.Freazmg " e iy :;.
N ¥ o s _,r_‘;'_._,— _ f"';' E

Azymsmdatplacehbdod

8. -
. :

Powered by: www.eeducationgroup.com

‘The chart below represents a weather record
. 'Which stafepient is true about the weather chart

= S

"i‘“&‘*

)

' A.W‘mdymonnngmsedas«m) afternoon

Clmldymonnngmadcaclmndyaﬁmiooh

.’C.A mnymmnmg was followed by a windy

afiemoon
DThcbcstdayforlamdxywas Thmsday

: StdSpupllspu.hotmmwoodencontmnu, !

ic container and in

tunpmnne of.hewmaﬁerfomhoms.%at
was their correct conclusion ? s

;A.TMwmrmmcu container was the hottest
" B.The water in plastic « " ‘ainer was the coldest
" C:Water in the met~i'ic container was the coldest
‘“DWawrmﬂwwoodﬂcomamlndmmd

in amount ]
DICTTAT. PROVI. 2018 FX AMS SCTRNCR
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10. -

12.°

13.

14.

18.

Which one of the following levers uses the
. richele wbplaan .

A.wheelbarrow -

B.Crowbar

. C.Fishing rod

D.Bottle opener

The following processes take place due to °
changes of temperature in the environment?

ice e————_pWater ?—bwmrvapour

The process that represents sweating of the
body when it is very hotis ____

Alce
B.Water

C.Water .
D.Water ——

water |
waler vapour
Vapour water
ice

——-

Which statement is true,soil with the very fine

particles

A.ls good for modeling

B.Has the best drainage

C.Is good for constructing houses

D.Is good for crop like tea ard coffee
Which one of the following is not a cause of

" 'water polhtion?

A. Floods _

B. Animais wastes

C. Releasing treated sewage in rivers

D. Use of excess farm chemicals
Thcpropertyofsmlﬂmnsnotphymmhs
A .Fertility '

B. Texture

C. Colour

D. Pariicles

Which component of blood is used to
transport urea and excess salts in the body?
A. Platelets

B. Red blood cells

"C.Plasma

D.White blood cells

16.

17.

18.

19.

Powered by: www.eeducationgroup.com

From which chamber of the human heart is
blood pumped to the lungs? -
A Right ventricle :
B. Left auricle
C..Left ventricle
- D .Right auricle
An electrical civcuit has the followmg except?
A.Bulb
B. Plug
C.Wire :
D. Source of power
Which one of the following consists oaly
substances that have no definite shape but
have definite volume? :
A.Nitrogen, oxygen, waier vapour
B.Stone, kerosene, carbon dioxide
C.Oil, toothpaste, glue
D.Clay, flour, cement

The diagram below shows a circuit that can
be usedtomakeatcmporary magnct.'I'hc
encrgy transformation at P is

BB E

20.

A.Chemical ———p electrical -
B.Heat ~———»p magnet
C.Electrical ———» chemical
D.Electrical ———# magnet

The follov ng are safety measures when

dealing with electricity except ?

A_Avoid touching switches with wet bands

B.Do not yverload sockets '

C.Fit a house with lightening arrestor

D.Sockets should not be poked with naiis or
wires

DIGITAL PROVE 2015 EXAMS SCIENCE
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- 21. - Which one of the following pairs of machines 28. Which plant below uses a part of air to

belongs to the same group as a ladder? manufacture its nutrients?
A.Claw hammer and fishing rod - A Maize

B.Road winding up a hill and crowbar : B.Green grams |

C.A screw and a stair case ; .C.Coconut

D.A ramp and coal case ; D.Oxalis :

22.  The S.T.I that can cause madness and 29.  Somebody diagnosed to have scuivy is advised
paralysis in severe casesis______ by the doctor to eat foods like - -
A.Syphilis o : ABeef
B.chancroid . 'l BGreen lea:fy vegetables
C.genital herpes . : : ) C.Cooked bananas
D.gonorrhoea ' D.Bone soup and milk

23.  The stamen of a flower is made up of: 30.  The force that opposes motion is necessary
A.style and the ovules - - : when ? ,
B.stigma and style : : A.writing
C.anthers and the stigma : - B.sking
D.filaments and anthers ' : 'C.engine is workmg

24. Which plant below can be classified in the D.rotating wheelbarrows wheel

- same class with puffballs? : 31. Pulleys makwworkmerbecausethcy
A.Moss ' A Reduces fhiction ‘
B.Cedar ' ' B.Increase force
C.Maize C.Use gravity
D.Ringworm i D.Reduces the weight

25: The component of air in the atmospherethat | 32, Which one of the following ammals gives

isnot constant in amount is . _birth to a litter?

. A.Oxygen A.Goat
B.Rare gases B.Elephant
C.Water vapour C.Lizard
D.Dust particles - D.Pig

26. Which drug below is classified as one of the 33.  The following experiment was carried out by
narcotic drugs and prohibited in Kenya? class 7 pupils. Study 1t and answer the
A.Caffeine . : question 34.

/’B.Cocaine ‘
C.Nicotine
D.Alcohol
27. Which one of the following is an advantage
of hard water.
A.Saves soap during washing.
B.Lather easily with soap
C.Suitable for drinking
D.Form scum with soap.
steel wool
=

4  DIGITAL PROVE 2015 EXAMS SCIENCE !
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- 47.

-A.Green Manure

Which one of the following ways of improving -}
mﬁﬂaﬂﬂymnub&emmham
to get nutrients?

B.Compound fertilizer -~ ...
G.’Fa:myndm-l!e S
Compost -

-Wlnchmeuthceonwtmdaofﬁuphﬁ?

A.Mux,arﬂr,]quta,Sanm
B.Earth, mats,Juplta,Satum
D.Enﬂ:,Jupim,mars,Umﬁxs g

wmcnmeofnzﬁouaéuguoodvma
ewecﬂym&vmhﬂ:etypeofmﬂzy

B.Venacava
C.P\ﬂmomyvein

Wh;ch oi‘Eéfollowmg ; mnottmeabom_ il
incubation stage of HIV and AIDS?

A. A person can infect othurs '
B. ’I‘hcvnmscannotbedaamd .
C.  Apessonlookshealthy -
D. No m’hlcsngnsof HIVIAIDS_ A

Inwhchoneofthefollowmgmceuswm
re-used? ‘

A.Stonngwamermaunktomcmdrym

BUmgd:rtywmﬂomﬂJehtchenmm
flowers

CCollecnngrmnwmfmmroofsﬁ)rmem
D’[\mnngoﬁ'ta;)swlmnotmme e

: Pmmmz.wzn@m‘m ALLTHE B

o

‘D.Ladd

AC.Comm.coﬁa,pahntrees :

Powered by: www.eeducationgroup.com

thhofﬂlefullowmgmhmm

.C.A.Nﬂenihm
éakammdﬁuﬂm ,
‘C.!hsmethmcnemw
:D.lhsonlyonc.mqorniﬁnn

Ihefonawmgmkawmkmbymmng
effort distance except ? :

B.Ramp
CPulley

Whnchoftheﬁmowmggoupsmm :
cropsonly?

A._Coconut, sisal, cotton
‘BCawn,sunﬂaws,tea

D.Sml,coﬂut,pahnuees
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It is easy to 1 “about cmssing a river. When 1 look 2 ~the line 0_1_1__;1_19_';_
map 3 wﬂmtnverlaossed.lunmm _____asmallﬂnng;l_:onl_doncehave J
coused ___5 such great fear. 6 that day I prepared to enter the river. 7 my
gun htween my feeth and with a prayer 8 God shipped into the __ _9__watcrs.lswamin:;
wiid way of ___10 beginner. The 11 was not strong andl the water was ___12 7~ .
warm. I seemed to move 13 sxowtyandlwasoomwuhfear.mmddleofmeﬁmsmmly?;'.-
14 mdmyd:esthtmmtamﬂd-bendlﬂnughtnwasaaooodﬂemdmmymﬁmmﬂnml il
1.A.argue B.discuss C.say D.talk |
2.A.at < » - Bfor C.on » D.over |
3.A.when . Bwho Cwhich =~ -  Dithose 5]
5.Amy : . Banyself - 7 Caps” - D ;]
6.A.in - B.at e GO, 2+ e, . - Dand |
7.Abold B.held C.holding Ditook
8-A.in B.to C.for ~ Duwith ‘
9.A.madly B.mild Cmsd D.muddy i
10.A other o Ba __ Cte - Dm
1LA fountain Bstorm -+ cmCowment - D.wind
12.A moderately . B.umodemstion  Cmoderatig = D.moderate
13.A.t00 ' B.quite - - ~Cs0- D.very
14.A shallowed . Bnamowed . .. C.widened ‘D.decpened
15.A.escaped - ' Budisappeared  C.fled D.vamished
FuqusdonIJtoltckmctbede s Bk quMI’a‘”deﬁeM“
mﬁcm&of&emw mmtkesmecaemlaﬁhdmrd.
- 16.  You cannot find Ngugi’s latest novel in the 19. ! Mary has no relatives gxcept an agsing
A.recont B. Inst S Y Aonly B. besides
“ Citldest ; D. newest: - o Ay PR : £ L e
17. Mvmtthencldedypuunsm ey T
2 120. MWMmStﬂmwﬂlmoave g
A. often ~B.rarely ~ relief food. i
C. regularly D. soon : A. adjacent B. friendly 1.,
18.  The driver suddenly halied the vehicle. - |~ C.neighbouring D. next '
A. started ' _ Bmuved,.: For questions 21 and 22 arrange the sentences to
C. stopped ' D. drove 2 make a sensible paragraph
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.. . everybody thoughtthey won'tstop. . .1 ... meensthe seme asthe given.one
v.. - ‘- ! - ) A
#). Mukgd i gave birth on the way and the beby | 3. - - gad you described the SR
s it A s Co et e wouldn’t have lost the way.
When . Ami i 2 - 4 :
i ] q e foE SR , i -»,'_‘.h‘, \m: 'W’X,'.’_r i
W)@homdly.&Mth B.It was useless of you to describe the route.
Afliive i e WO KL i ] C.You described the route clearly but I lost the
: C.iiiiiiv ‘D.iiiivié - : ey - : :
22. i) All the pupils) s i it for him 0], D.Ilost?;eeiaymyoudxdnot@mbethe
speak s o i : vy
ﬁ)ﬁWmodm-,amudnﬁm: 24.  Joan is not prouder than her sister.
of the assembly ground ' : A Joan isn’t prouder than her sister
iif) Good morni “he sgid” we shall close the | j4_'B.Hers§ste!'ismpr0|Idach.>an
schoolmedigdyaﬁalmch” _ » ¥ “CJoaﬁxspamnderﬂ:a?yhet.\exste:-
iv)Hc,sn{epthisgyaaaossthcwholeschbol D.Compared with her sister, Joan isn’t proud
i R i |25,  The oldman said, “ My son is pot ini now”
Adtivi BEWEL AMysonisnotio e oldmmmid
C.iiiviiii- D.m#wi B.The old man cried that his son was in _

_D.The old man said that her sor wasn't

B xmamchnd'in’dpwy»pfqi@&wuﬂmmmml1emmﬂmp:ymmhadoommiued
mﬁcnglnaﬁalmbmAndo&IhdmmedﬂmWsmmMmmyhrmwm”aaepchﬂd
was difficult. However 1 had one ¢lder brother who was my role model. He introduced me to drama, debate and
scouts.umedidl-kmwmnmxmwa'ﬁchgawofhisown!iewasoﬁmsadaskinghimédfwhyow
fnother hated us so much that she had to kil herself. ¢ <° < »

: Mw,mmMamummemwmmmmumw
qcﬁon.Byﬂ:cﬁmehewashfotmfommyoldahothﬁ"iﬂiﬁﬂhswmsomuchtlﬂhewoeonnﬁnpd_
Mmesmemmuigedymhcwin&AsacﬁMlhﬁmdmbéleadmhedﬂn
wmmmmmmmgwamm_mmmmammmm
-himtoapoimthathebwamemaniacdeptusiveandevmﬂywwtmy. ' o

Aﬂﬂﬁshappmedwhqnlwasinﬁmn2mditaﬂ’wtedmysmdie=h{uﬁoelwaslastini:laSShoWevetmlring
mylomﬁmeldecidedthatitwasuptometomke’conmiofmylifeildeuidcd‘fhatmylifewasmixnmdnotmy
mndu’s,ormybrodner’s.ldecidedtoworkhﬂrdandﬁvomylifcinawuythatwouldinspireothﬂs.Myhandwriﬁng

‘ wdtobeawful.Imﬁmdﬂ)mwac}nrﬂmwalotofpppasmmmkﬁﬁchmmthatnewywﬂm”asm

Hdludnno&oofbeingread.ldidnotwanttoﬁﬂbwpnscofbad handwriting so I decided to change. From that
dayon,mymm'ksimprovédbemusemchqscomdteadwhatlwmte.'lfybucanchang:ymnhmdwiﬁngyoum '
chnmyomlifc.You'changeyomlifebymakingadecisiontodoso. / TURN OVER




29.

31.

_’A.fﬁselderbmﬂ:etwnsuw
' B.Hewas:nsmred}vhseklutm

youennhelpyomself Ifyou
start pow! - 7
‘A qummwewwm
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A.Thewxm:sﬂ;eonlychﬂd
mmmmmsu

C‘I‘hewmacannotmllhowli:mw
like '

D‘nxewmerwuanoqﬁn ) _
“Role model” auaadmﬁsm-
C.An clder person. - DRinglosder
ADifficolt ‘BXKimd = .7

C.Amuweofhum : ‘ "

much
What does the writer sy sbout nogative thoughtx? 3& ?x:x:?d mm:c
A.Theyshmldbew | A.Hehdnotmdlydeadad»d-’
Cw“m,m Wit R yge i mmw-mm

Dmmmm D.lh‘mdtoheﬁuhs

Wd,dﬂ,mm.,hm,,.;,f % mdumuﬁw‘hm




"> A.A child’s first language

_ D.A language pessed on by grged parents

A.nm'wiﬂnhe learning of other

following except ?
A.Mother tongue forms culture

D.It links people of different generations
The word eons as used in the passage means

A.Shntt B.Sometimes
C.Lbng D.A while

Aceotdmgtothepamgcmotbatongtmzs

B.A child’s first language learnt from the
mother

C.A language learnt as the child is rocked to

The folléwing are functions of mother tongnes
At makes ones identity

B.It is ones birth right

C.Jt identifies ones culture

D.Jt idenifies ones nationality

It Is impo:: antforonemldamfyvmham
moﬂwrtonggcbew:sc?

‘languages

B.Aehi]daoquuusldllsﬂntneedsmduy
-language acquisition

C.Jt makes one slave of culture .

D.1t saves children from being dependant on
others. ‘

The pbrase age-old-gem as used in the passage:

B.Anmmtﬂung
C.Avctybmmlﬁxlomm
D.An ancient precious thing

DPNE 6
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-Whyismathcrmn@reloosingitsiinpomaoe

AMmypcopielmvcaccq:ledtom:ptﬂn

' i-_sx.swammwnngmmmwn

47.

Sheng

C.'lhcmodcmizaﬁonofspmkingEnﬂisbin
urban centres

D.The modernization of mixed marriages
Whymchﬂdmnmnnxcdmmnagesmablem
speak their mother tongue

A.’l‘l-.u:n-parenfsmclupouly!i!)eﬂ'kmsa
language they can both 1mderstand

B.’Ihenrpm'emsmmadﬂemma

C.They send their children in rural areas
D:They refuse to speak their mother tongue
The word dilemma used in the passage means
B.Confused

Which of the following statement is true

AWeshouldnottcachcuitmemomchildlm
B.We do not need to take our children to old

. C.Culture and tradition will not bridge ethaio

lines

D.Culture and tradition if well taught plays a.
big role in bringing understanding to
different nation

’I‘heﬁ»llowmgammagorhngnmofthc
world except

A.Greek
C.English

B.French
D.Spanish -
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Smammlﬂshaw.azolvaﬁsn-rs S i
| “___._ mb‘m> «2 _miinzi akatuamuru tusimame.Kesi ya kwanza siku 3

P ya shilingi elfu tatu.na akaonywa ____ |

4 aliyeshtakiwa S kulojifunqa ukanda i )

usalama.Alitozwa

___ akipatikana tena stapewa __ 9 kikubwa

zoidi.Kes! ya pill ilihusy mzee 10 ‘kwa 1 blrtiwakewambkti
kuml naminne a'IIYeku_a darasa 12 nane.Shaibu _ , 13 allachﬂiwa k\wa R
14 ya shilingl 15 kumi.

1.A.chumba B.nyumba C.chumbani D.oftsi

2.A.hapo - B.mule C.mumu D.apo _

3.A hic B.hiyo C.hicho D.hilo

. 4.A.makangs B.beste C.chali D.utingo

5.A.kwa ) o Bae U Cjuu - D.yenye

8.A.y2B.cha Cra oD

7.A kodi B.ushuru C.fidia Dfsini

8.A.kua B.wenye < . C.kuwa D.dhidi

9.A.kifugo B.kifungo  C.kipungo D.kipugo

10.AW _B.alioshtakiwa  C.alishtakiwa  D.akashkiwa.

11.A. fumhosa " Blkumuhoza C-kumuosa - D.kumucza

12A08 B.ya Cila " D.cha

13.A.huo' B.huyo ‘C.hiyo D.hi

14 dhanama B.kodi C.thamana D.niaba
 15.A.herufu B.elufu C.eltu D.helfu

Maagiro
16. Semenslganlunbayoinaltw-yahelen

Ao andaji alimwendea swara kwa st
B.  Aliends ng'ambo kwa ndege
C.

-Kwa mujibu wa dini kufuru ni dhambi

C. Chai
D. Bibo
18. Changua sentensi ambayo ina kihusishi
B.Gari huegeshwa nyumbani na baba
' C.Gar litaegeshwa nyumbani beadaye
DGaﬂllmeegesﬂwanyumayanyumbayem.

‘Il’ﬂ

¥ i



19.

-

N
'Ni methaii géni isiyooana na maelezo haya? | 23
lﬂlamaramchoahob-u[nmboldcbm' '

MWMMNMM»- '
Mmdlgwmkullim

A.Udongo upwlize uli maji
B.Skkio la kufa haline dawa
C.Cha kuzama hakina rubani
D.Cha kivunda hakina ubeni ' 24.

A- unganifu imetimikaje kuleta wazo katika
sentensi hii’ Gari la baba limeharibikia
barabarani

A. Uhusia_no

B. Umilikaji

C. Utumiaji..‘. ,

D. Jinsi au namna

" Tumia kirejeshi amba sawa sawa katika m
hii ‘ - '

Nyuzi zi Mmmuw

ANyuziambaezmazommwanamd
nyeusi,

B.Nyuzo ambalo zinazotumiwa na washonafi ni | 26.

C.Nyuzi ambazo zinatumiwa na washonaji ni-
nyeusi '

D.Nyuzi ambazo zinazotumiwa na washonaji ni
nyeusi

Ni sentensi gani ambayo iko katika wakati uliopita

A;Mwashigadj hakuia wala kunywa chochote

B.Cheptoo ni mtoto mrefu zaidi ya wote shuleni

C.Tutakapofika shuleni tutafanya mazoezi ya
kutosha :

D.Nywele zisukwazo vizuri hupendeza wadogo
na wakubwa ' ’

Tk 3

Powered by: www.eeducationgroup.com

Icl Kielezi ma i Huat ‘ ' : | -.“‘;':;'
Jumas anaishi megharibi mwa myji wa kitengeia

A.Juma anaishi

A

B.Magharibi mwa
C.Anaishi magharibi
D.Mwa miji

Andskskatlausemnmm luvanlniulm
nduguy-ko?'bmai-mulm

A.Baba e¥mwuliza kwa nini unampiga ndugu yako?
B.Baba alitaka kujua kwa nini alikuwa akimpiga
ndugu yake.

C.Baba slimuutiza kwa nini alikuwa akimpiga ndugu.
yake,

D.Baba alitaka kujua kwa nini alimpiga ndugu yake.

¢ ot
Ni nini ukubwa wa; mtoto wa mijini alimwita mtu
A.Toto ta jifini fililitta fitu

B.Jitoto la jijini filifiita jitu

C.Totw la kijijini Tililita jitu

D.Kitoto la kijijini kilikiita kijitu
Andika kinyume cha; mshi:ldi alipokea zawadi |
A Mshinde alipokonywa zawadi '

e

B. . . Mshindwa alipokonywa zawadi

C. - Washindi walipokea zawadi ' S
D. Mshinde alipokea zawadi :

Umbo hill ni

Mistari sulubu
Mistari mshazari

Mistari sambamba

o o w >

Mistari mchinjo ' .




P - - B s e O el e
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28,  Wazazi wa mke au mme hultwa hivi ispokuwa . | 0. Beberu ni kwa mbuzi kama vie fahall ni kwe
A. Wacheia o A Kiora |
B. Wakwe : 8. Dichie
C. Washenga b | ‘ C. Njoku
D. Wazazo ” . D.MBuguma
A. Akufe ; i
B. Aafe '
C. Afe
D. Akakufe

. Soma Tarifa Hii Kasha Ujibu Maswali 3-40
Mkumpukowamalaﬁaagluhbuhubkookaﬁwirmez’im’wmjmi, muda mfupi baada ya msimu wa
mvua. Kwanza wataalamu wa afya wanadal kuwa upo uhusiano baina ya mvua na mkurupuko huo, hakuna

masika yasiyokuwa na mbu. Vdmw.mmymnﬂmmnw'mmdya
mbu kudumu. :

" Aliha vichaka na misitu inayozunguka makazi ye watu viievile futokes kiwe mwafska kwa mbu kuishi.
" maambukizo ya mbu hukidhiri kadiri wanavyoendelea kuzsana.

_ Milipuko ya mbu nyingi hutokea kwa sababu ya mabeditko ya hall ya hewa. Kuongezeka kwa idadi ya waiu
mnimmimwmmm.mm,mmmwwmmanm
buriani. Alhali takribani millioni fisa wamo hatarini ya kuambukizws maradhi haya. Kws mujibu wa takwimu
Ziizotolewa, Mmmmmw,mmmzom—muumnm.wmm
katika hospitali za umma esilimia 30 yao wanaugusa ugoniwe wo melaria

*  Watu wanaoathirika mnomudehuu'nlmmuhmhhﬁmmm. ld-dl_mmmuashma
: mwamfumowakupambananamlaﬂarimbowaummmdouﬂ.

Mpokaéasa. ho]aimﬁod\akmud\mm.mmwmwmwwlmmmmka?
Hnniisharakuwalengokuulammlmmdyamm. ' 2B :

31. Mwandishi anadokeza kwamba ugonjwa wa |39 : lm i el

malaria

AL Limoinm
A. Una tiba B. it
bl sugu C. Limestawishwa

B

C. Hauna tiba
: L. Limekosa Kufaulu
D :

Huumiza wanawake tu

wi- 4
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33..- ldadi ys weti wagenjng wm!azwahospw ; c Ketkati ya mwaka
za uma ni asiiimia? : et MmEe ot Ay et
s 3 it e TR -f->g®MWMM ﬁ;*tib%ﬁiﬂduﬁdﬂ\ )

Nl P RO 5 b v s slao“ : o
» C Nusu $ “D. ml S b um-&\%a* e ‘%w Sy
| ;‘ yawawwanaoweza ua Amnom _-»Ww
huu ni_ ‘Bmwamnim *“"'"55&*3*{@ wmm
SRR —— ;-;»f;««-w S Ao W#w««hﬁw
: A‘.‘ Miliioni 20 _B- Mnﬁmis‘ = SHEPTN Kﬁmwsﬁndnﬁ!;m

h"\» "S"}‘ R , (x., ;,’;”,75.«,\

C. Miliioni 6 D. Elfu 6 na nusu D. Usnmwshm,m - 4.,;;_-;.{..:,; e B
35. Idadi ya watu pia 39. Nimaelezogaﬂslyalueﬂlnhmiammw
' A Hussidia mbu kuzsana , ' B e e i ey slE . ¥s
s i . - R e ‘4‘,-‘_- . ‘?‘_;r‘& n,i#;!‘* 1' gz
B.Husaidia kuenea kwa malaria : A. Uwele—dwﬂ,e/ Bt T e
EIERS Y PR 3
C.Huimaisha matumizi ya cawa - B. . Uwele-mawele - i i
D.Hukua dhic va malaria B i C. Maradhi “maradhi * s I
s -~ 1L s .* SR

38. Maambtukizi va malaria roungezeka musimu | | D. Ukongo- ukongo "~ oI fvfn-w.....
upi? ; LA

A. Kipupwe . B. Masika sana na malaria?
C. Vuii D. Mcho A mamw wajawazito -
37. Mllpuko wa maiana huariza llni" SRR ¥ B.  Maskini P

AMwanzawamwaka

B.Mwisho wa mwaka

Somea habari ifuatays kisha l.qyammmvnlli-w

AL 2 .};r.,-\" ¥

Mzee Jabali alikuwa bahahwakupugmmmkﬂmkm Mz-omryualln.mmmlnyinoi Shuhi-w”.a
kushamiri kila mahali. Afikuwa na ngmmmmmmm mashamba lukuid, nmglgm”m kifsihari

, mbali na hayo alimillki ndege chuma tano. Utajii wake ulilingsnishwa na ule wa mfaime Suleimani katika Bibiia. Aiveza -
kumillki himeya kubwa ya maii WammeMmmmuMmmmmme
Kwa Jabali kulikuws Paradiso duniani amnmyaheioogolea ‘kwenye bahari 1a anasa aisee anass Wmmm

mtipwatrpwa et é e .' ‘\‘

Ukame ultz»d| kumgamlza jamii nzima ya Kokoto. Watu wanm maji na lishe. wmmmmm .uu

angalau wapewe chochote cha kushikifia tumbo kwani hamna auni dhaifu, wangefurushwa kutoka Kwenye mw.hw p.u- &
ya askari wake kuanirishwa kutekeieza kitendo hicho.Jambo hill lilikkera jumuis ya Kokoto. Wengi mmm

wakmmkaMamkwandam.Kmmmﬂhwudﬂziﬁnmmmmwmnyhghemmo mpﬁ-nbonl

,mmaganmchakaanakush'kakutumw Jabali hakuwa na huruma hata kidogo. MWMWM

e

hata tone moja la maji. Hakika ukatili ulimvaa mzee huyu wa watu, ukatili ukawa yeye. .

wh £
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Haki.va. ukame. iizidi kuwa kero. Wazee kwa viiana walimiminika milimani na misituni kutolea miungu kafara lakini havo vote: <

yoliama ¥azi bure. bakhtata. Wetu wallendies kupoteza uhai, Mmpmmmmmnm Enzi hizo
wnmmmummwm Jabdimvomm“mw
mmmww m-uwm wa Kokoto ukiteketea teketeke kwa janga hili. Watoto. wa
Jasel wallaswa matpili weiiotawaia, snasa navo ' ikaitikia ne kuwapokee kwa mikono miwili. Siku moia Micto wa Jabali afkuwe:

ot

mm”mwm“mm“m“mmwamwmuMmWM":;' :

mummmymyawummnmmmmmmmu
mmmmmmmwumﬂmmm Baadave mvua kishwa illinuashs na
kadeta ulanisi mkubwa. lie bea iondoe baa.

4%, Kwe Jabeli ghole Zhijsa nafeka na hets ktspiks | 46.  Ni nini kinyume cha ukame?
N ? :
_ A "Chakuta | B. Unafisia c.vui D. Kiupwe
C. Methali - D. Nahau .
v 47.  Nimethali gani ambayo Jabali alizika kaburi s

42, Ukstlli ulimvaa mzee wa watu.ins maana snhau?

.

8. Ukatil ‘ulimwandama

_ L C.Akiba haiozi
C.Ukatili ulienkimbia
- D.Mwacha mila ni mtumwa
mulm

48.  Nini usemi upi si sahihi kulingana na ufahamu?
A.Familia ys muohwu iliiowa yenye ukwasi
B.Ukame ulitawala Kijflji chote
C.Wakazi wa Kokoto walitaabike

D.Wakazi watiiteta mvua nyingi;:

A% 5 N el ksema. kuwe mzee Jaball alikuwa 49. Mzee Jabali alikuwa na tabia gani?_____
1o dokn I L | 022 usadia maskin)
] ' o ' | D.Za kutowsjall watu
50.  Ni methali ipi Hiyojitokeza wazi kwa wakazi
RLELT P : i 3 i Kokoto?
S5 S A Ol A-AKili ni mali
B.I“ddu . & ' B.Mgaegsa na upwa hail wail mkavu
mm - D.Baada ya dhiki feraja |
wie &
4 L
a L v




Study the map of PEMWA and answer question 1-7

.

Betadihs WUEE. el GRTH Wi g IO A OO T R A e £

B 3

PEMWA AREA
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i Py A Yo | g oy e o e e ek e e 4 g
~ y :

i 5 ‘jﬁ_ . 'T - S AL . '?:KM
Sechool ** Forest
Settlements i 'MQTYuN_\ Toad
@ Quarry |ML.O  Municipal council office |S,M ~ Saw Mill
A4 scrub  IMRT . Mhket ——=Tea Plantation
~< R SR —v— ;
River I L ,' MC.Oboundary |H -  Permanent building
Bridge | Hill - €O  County Offices
¢ : . A.3ckm
Pemba market ; C:zupcm
ANW D.L{gkm
B.S.W Which of the following activities is carried out in the
L GNE South east part of Pemwa '
AR DB, A.mining
& Abus travelied from Pemba market to the junction of B.fishing
. ‘Mega town and went back to Pemba market. C.lumbering
_ foliowing the tarmac road.How many kilometres did D.pastoralism
did cover ? BT
2



10.

whicn of the. mmmacﬁvmesusmtc-mdwh

the westem partofPermram

A.security

B.recreation

C.education -

D.administration :

The climate of the ammmmwd

river Pendo is ?

A.hot and dry

B.hot and wet -

C.cool and wet

D.none of the above

Thesourceofmermpruwamm

counci! is

A.sale of stamps at the post wAfice

B.collection of fees from the school

C.sale cf trade licence to shopkeepers in the -
market :

D.collection of fines at lhb court house in -

Mega town

,Apersonhassaﬁtetoaﬁukhmm

within Mega town wmdlisﬂwmoawopdlb
action matshouldbetalanbym:xmlnmth
incident o . °

A.the Chief camp

B.the District office

C.the Mayor

D.the ©Jlice station

In Kenya customary marriages are conducted by
A.clen eiders

B.2 magistrate

* C.councilor

D.a religious leader.

Which of the following weather instruments is
wrongry matched with mmamt
messures - o
A.barometer - air pressure

B.thermometer ~temperature

C.windsock -wind speed

D.hygrometer ~amount of moisture in the air

The fist morden school in‘ Kenya was

. established by missionaries at

A.Kisumu

B.Kikuyu

C.Rabai - W
D.Nairobi

11.

12.

13.

|14

18.

16.
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Tmmeptojadehorderto

A.improve watsr transportation
B.promote cash crop farming.

C.control soll erosion

D.promote fishing area

msamumwﬂmhm
i.Victoria fells

- zwmm

L. The valley of king

- | wKruger nationsl park

which one is found in South Mﬂu
Al g i

B.2 = 3 oS

c.4 : :

Which one of the following communities migrate
into Kenya from Southem Sudan: '
A.Galla

B.Nandi -

Eastermn Africa
l.abuudhnmmm :
ARis mammumm
metals

Hilt s mymmwnmmm
Nv.1t is mined using open-cast m-M

The mineral described sbove is ~
A.Copper L
B.Fluorspar

C.Diamond

D m Gl iR Aty

who amog the following: leaders’ deuropeans
colonial rule in Africa

A.Lewsnika

B.Lenana

C.Samori toure o

D.Kanuri Wagakure = -




17.

19.

21.

Which of these lakes is.formed by giacial erosion
A.Kanyamboli ' '
B.Paradise

C.Bogoria

D.Teleki .. . .

lmganon farmmg ls impomm in kenya manly
because

A.it 2ams foreign uchnngo

B.create employment

C.boost food production

D.develops infrastructure

1.high temperstures between 200C-28°C
2.high annusi ralnfell between 1400mm to
3.warm dry season

4.gently slopy land

A.surgacane

B.pyrethrum

C.cotton

D.sisal .
wnu\oneofumensnotaMbanmendof
mnng grains

A.gourds

B.huge baskets

C.large ciay pots

D.sisal sacks ' ;
Below are coaraaerlsumofvegemuon region in

. Africa

rmmMMuw'm
zqummmpy
&hosllmbarmmm

, 4mmmyhm

This vegetation region is

A.tropical grassiand

B.desert N

C.mediterranean

D.tropical vegitition ‘

Settler farming in the white highlands was mainly
A.subsistence use

B.commercial purpose

C.industrial use

D.food production : ‘

Three of the following are service industries .Which
one is not. '

A.Tourism

B.Banking

C.Shoe polishing

D.0Oit refining

'24.

"A.Fossils

Powered by: www.eeducationgroup.com

“Which one of the following factors influences -

negative growth of population’
A.Polygamy

B.Early marriage -

C.Naming system

D.Increase warfare

Mountain vegetation is de\orminod by two m-]or
factors .They are i

A.Altitude and mmpermura

B Drainage and latitude

C.Temperature and rainfall

D.Altitude and rainfall

The remains of human mﬂon are alled
B.Archeology !

C.Evolution

D.Diatoms

During a school management committee meeting
the headteacher role is to 7

A.Chair the meeting

B.Writs the absorption

D.Take minute of the meeting

Which of these is not a traditional farmingmethod
A.Shifting cultivation

B.Bush farrowing

C.Communal farming

D.Ranching

wmd\ofumesaproblunofmmpuaﬁon

growth
A.Unemploymem ‘

B.Reduced market for goods and services T-

C.Poor standard of living
D.Land fragmentation
The county govemment are found under the

,A.Mmlsuyofoducauon

B.Ministry of labour
C.Minisry of local government
D.Devolved government

The main problem facing our forest today s
A.Cutting down of trees by man

B.Damage of wild animals

C.Pest and diseases 7

D. Out break of forest fires

Al



The main cause of the fall of Oki Ghana kingdom
was . . . )

A.French occupation of west africa
B.Attacks by muslim from the north

C.The kingdom become toQ big

, D.there were succession dispute :
- -Study the map of Africa below and use &

MweanammmwKKismus
A.Bengueia
B.Canary

- C.Agulhas

D.Equatorial guinea
The town marked R and X are

A.Antanarivo Rabat
B.Kismayu Tripoll
C.Mogadishu ' Rabat
D.Asmara - Tunisia

The sun is overhead at latitude T In

A.March

B.Jl._lno

C.September

D.Decamber .

The mountain marked P is called ?
A .Tibesti

B.Futa djalon

C.Adamawa

D.Ahaggar

37.

41,

D.Nubian desert W A n
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The climate shaded and marked B receive rainfall
during the

A.Summer

B.Winter

C.Throughout the year - )
DSothSmmermawm di %9
Which ofmafumugmwddm“nh
Antiantic ocean PP
A.Lknpopodeambdzl

B.Nile and Shebele

C.Ruvuma and Orange
D.Orange and Senegal
wnbhmedmomndnmhfoundm
Botswana

A.Sahara desert

B.Kalahari desert

C.Namib desert

e 3

The following are dumauuou‘ou certain type of

umbmmmdmw

A found in sialow u-qfu-rm#n
cosst

mumm:fmm.p rm
mwbmm :

A.Mangroove forest -

B.Tropical rain forest

C.Mountain vegetation

D.Savanna grassiand-

The foliowing are achievement of & canain
prominent ieader in Africa . ... .
i.he jead the war against lsrael ™

‘ il.he settied land less people in the imrigation

schemes :
jii.he challenged colonialism in sfrica
lv.hewasfoundormmborofo.AU
who was he
A.Game! Abdel Nasser
B.Kwame Nkrumah
C.Julius Nyerere
D.Neison Mandera
Which one is factor which affects populstion growth

" AWar

E.Mage
C.Urbanization

*-D.Unemployment

TURN OVER'



s
The main aim of the formation of African union AU
was to

A.improve living standards

. B.develop infrastructure
C. BYi deivocracy-in African countries
D, o A iaiiew 3 m a

The diagram. above showsmefmnabonafa__

A.land breeze
B.convectionsl rain
C.sea breeze -~
D. mghtm ;
wikan SABM: it Africa has the
largest defta" e
ACongo E = ;

C.Nilé < S i _—

D.Niger

Which of the following platesus is comectly
matched with the country-it is found.

%

ANkE: & 0 e Tanzenia

B.Bie Angola

C.Fouta djalon - Chad .

D.Tibesti Sudan
Whoamongtfeiollowingnsmeheadofaoomn'y
govemmem’ 3 '
A.Govemor’

B.Speaker

C.Deputy speaker -

D.Senetor

.Which one of the following is the main functions of
the legislature’ - - .

B.Make laws

C.Fight cormuption

D.Fight national disasters
mmemdMemsmsmmum

‘A.Planting cover crops

.B.Making gabion
C.Contour farming

151,
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D.Crop rotation
Fish farming is aiso called ?
A.Aquaculture
B.Floriculture

C.Agriculture
D. Hatchery ; .
Natural forests ‘are mainly made up of hard woods
trees, Which group below consist of hardwoods only?
A.Podo,Ceda and Fir
B.Elgon teak,Cypress and eucalyptus
C.Eigon teak, Meru oak and Mvuie
D.Camphor,Podo and eucalyptus

“Which of these is the method that being used in
_kenya to improve dairy farming.

A.Ranching

B.Restocking

C.cross-breeding

D.stall feeding
MostofriversmAfncaarenotusedfornavigaﬁm
because?

B.Have Crocodile

C.have rapids and water falis

~ D.have floating vegetation

Which one of the following winds bring rains 0
Democratic Republic of Congo

A.South West moonsoon Wind

B.Trade winds e

C.Harmattan winds

D.South east winds

wmchofthefolmng is not a responsibility of a
parent

A.to provide gujdance

‘B.to provide protection

C.to create jobs opportunities

D.to provide shelter

Which oneofmefoncnmnoisnotaﬂnmberof

ECOWAS

A.Togo

B.Egypt

C.Guinea ’

D.Senegal

Below are facts mout a oenaln crop grown h

Eastemn Africa .

i.used to make perfumes

ii.processed to make a mouth wash

iii.require high temperature of 27 through the
year ' -

which crop is described above

Al



H..___..._.—_.

et

'quzen?

Sy

A.Cloves.

B.Pyrethrum
C.Coconut

- D.rubber

which of the followm Is nolgnebmdtgood
B.Loyalty

C.Law abiding

D.Patriotism

Atlas mountains are an oumplc of

A.block mountains .

B.Fold mountains ' e AR
C.Voicanic mountains .

D.Residual mountains

To take a complete revoiution, the earth

takes : .

A.24 hours

B.365‘/z days

C.12 hours : ;

D.360'/ aay R, o

PART It
CHRIST!AN RELIGIOUS mucxnon

Accordinig to Genesis chapters on  creation , what
sin did Acein and Eve commited?

A.Esting the forbiddent frult,

B.Talking to the serpent e
C.Disobedience to the creator

D.Refused to listen to God

One of the prophet below oretold the birth of
Jesus.Who is he?

A_Ezekiel '

B.Micah

C.lIsaiah

D.Jeremiah -

Jesus summarized the commandment from the
Old Testament as

A.Love for friends and relatives only

B.Love ailies and God only

C.Love for man and all creatures

D.Love for God and aii other peopie.

Which one of the follomng books was m by
Moses?

A.Proverbs

B.Numbers

C.Psalms

C.Judges

71.
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TR

Mmammmmum
forgiveness—- -

A.Tmpmmmwm
amwammm

C.The Parabie of the Fig tree g
ompammofmemnmml.m
Oneofmmbdmm.m
befief about God .Which one T
A.God lives in heaven

B.God is trinity

C.God will destroy the world .

DGodisaprmcux :
wnu:mmmhmmwlwmuamm
A.Impatient
B.seifishness
C.Respect . _'

D.love ‘

A.Christ of God g

8.God with us S “e

C.Emannue!

D.son of God

The feast that reminds Jews of their Mh

Egyptis calied -~

" A.Festivals of shelter

B.Passover

C.Unleavened Bread

D.Chrismas

mm.mwnmmwy?

A.Attend all national celebrations ;

Bouyml-wmdkupom.rhmm
C.Heip the poor, muwmmm

D.Become a preacher

Jesus entered the city of Jerusalem riding »

A.Donkey =

B.Mule

" C.Camel

D.Staillion

mammbm-mldumw
A.Joy .
B.Faithfuiness

C.Selfishness
D.Love ” Vot
“You created every part of me ,you put me
mother's womb™ Thess words are found in tha book
of

A.Acts
B.Genesis
C.Proverbs

TURN OVER
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50D Peaims: g af 82 One of the following is a gift of the Holy spirit
74. V\Nd\oneofmefollowmgwanmarhaf Py A.Peace
passage >+ i thie’ Africen Tradition soauy ? B.Faithfulness
A,W,?;;u'éa:'. jerer s C.wsdom ' :
'B.Inhiation s 3 « - D.doy _ a
C.Contspton: 5" . 83.  The message preached by John the Baptist was
B RN NG ' mainly besed on 7
75.  The foliowing areeffects of imesponsible sexus! A.Jesus
behaviour. v . ‘ B.Justice
A.School drop out . C.Honest
B.Sexual transmitted diseases : D.Repentance
C.Un wanted pregnancy 84. The prophet who was sent to David when he
+3 D). Smiodth” education took Uriah's wife was 7
76. Ananias and his wife died because ; A.Prophet Elijah
: A.They were sick B.Prophet Elisha
B.They stolen from the church C.Prophet Nathan
C.They cheated the Holy spirit C.Prophet Jeremiah
D.They were killed by their enemies ' 85. Which of the following is not a reason as to why we
77. The Israelites recieved-the Ten Commandments at - celebrate the death and resurrection of Jesus.
Mt A.Christians remember their dead relatives
A.Aravat B.Jesus instructed his followers to celebrate
B.Olives C.It give christian hope before Death.
C.Moria D.It assures cluistians of eternal life
& iSidei" ] 86. The aposties recieved the holy qalrtd.linglha
78. TheswryofGldeonmdlest : . : d-ydmhmmnof
A.God loves young peopie ) AlJerusalem
B.Victory comes from God B.Bethan
C.avoid fighting : C.Nazareth
) D.Gideon was a strong Man D.Galilee
79. Jesus was:bom: in ordef to 87. Who is a good friend? One who
A.reconcile s with God A_Will favor you always
B:Change watdt into spirit - _B.Gives you what your parent did not
C.sufferon behalf of isreelites C.Comrect you in love
D.perform miracles ' s D.Point out your mistakes openly
un.,,Jd-mocammwseemm e Which statement is true .7
was | 7 : A.Abraham left his home at the age of 7Syears
A.Moses B.Abraham refused to give his life-to God
B. Peter C.Abraham left canaan and went to Haran
C.Zacchauas D.Abraham left canaan and went UR
T i DIMathews | ®9. A tenth of a person's income that is given to God
81. Dumgthedayofpemacost symbonusun either in form of money or possessions is calied
Holy spirit. _ -
A.Water : A.offering B.sacrifice
B.Fire . . | Cuhthe D.thanksgiving .
CWVINE sy, B D T 0. A christian start & new iife when he or she? -
i HDEDOVLCT fir, B LT A.goes to church on sunday
‘ B.Call the name of God
C.is a mature adult :

«
b
o
%
e
e
o

D.believes in God and is baptised

T™ATT

At
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ENGLISH | KISWAHILI| MATHS SCIENCE | SOCIAL/CRE
1.D 1.C 1.0 1.C 1A 51.C
2. A 2.A 2.C 2.B 2D 5.C
3.C 3B 3A 3.C 3.C 53.C
4. A . 4D A 4B 4:A - 4B S4A.
5.C 5.A 5D 5D 5C 55.C
6.C 6D 6.200cm 6.A 6.C 56B
7. B 7D 7D 7.8 7D 51A
8. B 8.C 8.C 8.A 8.8  SSfEA
9. D 9.B 9.C 9.C . 9.C 59.B
10.B 10.A 10.B 10.B 10.C 60.B
11.C 11D 1LD 1D 1.B CRE
12.A 11c 12D 12.B 12.C 6.C
13.B 13.B 13.B 13.C 13D 62.C
14.A 14.C 14.A 14.A 14.C 63D
15B 15.C 15.B 158 i5.C 64.B
16C 16.C 16.D . 16.A 15.C  65.A
17.B 17.A 17.C 17.B 17.D ©6.C
18.A 18D 18.A 18.C 18.C 67.A
19.B 19.A 19.B 19.D 19.B 63D
20.C 20.B 20D 20.C '20B 69.B
21D 21.C 21A° 21.C 21D  70.B
22.A 22.A 22.B 22.A 2B ND
23D 23.C 23D 23D 23D T2.C
24.D 24.C 24.C 24D 24D 73D
25 5C 25.C 25.C 25.C 25D 74.C
26. 26.D 26.A 26.B 26.A 75D
27.A 27.C 27.C 27.A . 27D 76.C
28.B 28.C° 28.A 28.B 28D 71D
29.A .+ 29.C " -29:B 298" | 29B "78.B :
30.D 30.D 30B 30.A 30D 79.A
31B 31LA 31.B 31.C  31L.A 80.C
32D 32.D 32D 32D 32.B SLB
33.C 33B 33.C 3338 33.C 8D
34.A 34B 34.B 34.A 34.A 83D
35.C 35.C 35.A 35.C 358 84.C
368 36.B 36D 36.A 36B 85A
37.C 37.C. 31.C 3.0 37D 86.A
38B ' 38.C 33.B 38B 38D B87.D°
39.B :39.B 39.D 39.A 39B B83.A
40.C 40.A 40.C 40.C 40.A 89.C
418 41.A 41.A 41D 41.A 50D
42.D 2B 42.B 42.C 42A

43.0 43.C 43.C 43.A 43.D

44.A 44.C 44.C 443 44.B

45.C 45.C 45.D 45C 45D

46.A 46.A 46.B 46.B 46.B

47.C 47.B 4T.A 47B 41.A

48.C 48.D 48.A 43D 488

49.B 49.D 49.B 49.C ©.N

50.A L% 50D 50.A
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